$E55m &R TH L EEsR 1L R iR =
H1H:20194E5825H

BFREB—E

5 ?E%%:gﬂiﬁiﬁéﬁﬁﬂiiﬁﬂi%
[H H 112 20% 30 4% 5T% 3653 253 817
INEBF B Eazk(2) 1172|d6F £ AQ2) 1176|188 REQ) 1179|RE #H&H0) 1272|188 EBEQ) 12”5
v B mmra | =gy B az7 B ac7 #5721
-0.1 = =gy az =gy Az =&Yz —
5/25 1000 -3 10) 32273 F&BA(®6) 32673 EF 7&—?6) 32972 5&53@11&)%2(6) 33272(f& E&(6) 33274788 &I(5) 33571 %E5E(6) 34178[EH T ia4) 35172
m
T AY—b =BT AT RY—b AT AY—F TR b EIRT R AT R —b =R az7
R i mE B TTAFEEMAG 1475 e
5/25 80m -+
-0.9 = e 4 ARIT 21— ﬁ]}‘@?xu—b
SMEENTEA(6) 147788 &1Z(5) 1571 ZE56(6) 1575|@%2x  E&(6) 1576 B A—(6) 1578[E#R  #A(6) 16°0[&F Fia@) 1673[KF #HA@ 1678
5/25 100m 7t +2.0 7t +2.0 I +2.0 J— +2.0 7t +20 — +2.0 i +1.7 , +1.7
= = - - = = =gy Az =
RS L Rt ToER %20 A T G O A HEE ZEW) oA EFI) ToER (1) 7677
m -1. -1. -1. -1. — -0. -0.7 -
__hfipeh _ _FERS _ b A4 s ERG b A4
Tl TR 5676| A1l 2(3) 5877
5/25 400m
__ P , _é;:EﬁBEF . , ,
5/25 1500 T =Z2&50) 52375| KB FRE®) 54175(ch#f TE&(1) 54775[& R (1) 6167 4[ K8 BHI) 6177 7[RFEKRRMN 6297 7|&E 2081 73971
m
ERH gEiﬁJZEF ERH chéffdn aaLan aaban hifich
B’ B= 9517410 A=@) 1120750kt =) 144475 # A A #
5/25 3000m i
FIETRA—R R4 eh RS _
) NN R 161776;E ~F 3 16217 4|1&3 Ef 163977|FH & 165173 KARE 171379 EAER 1741785 E Bt 175574k K Re 18’1578
5/25 5000m
HR B Bk R A=RE S ERAK 9 % ERYE 9 BIf% It 3% 12 AR R 1% #hi B AR HRI B BTk S A=kEn
AEx A—() 4mb6
5/25 E Mg Bk +1.1
ERAH
FHhEN1EEK(3) 10m88
5/25 =Bk +1.1
rhyfeh

1/2



$E55m &R TH L EEsR 1L R iR =
H1H:20194E5825H

TFREBE—E

I RI1G AIPEE) AN EE RS
[H H 112 20% 3fL I 4% I 5T% 3653 253 817
INERZF BE#E #EQ 12”1
5/25 60m
-0.1 BT AY -
) EX BE6) 2577 7|0 %0) 30077/l EZ=(6) 30078 & Fa=(6) 306" 1|8 ZRF=(5) J09 4| ATRHEEFIG) 3107 7| HREARFG) 311 1[HO &BE6) 31373
5/25 800m
=BV ac7y = BEF /N ERIHT A1) —b HRIET Y= =y g ERIET R)—b ERIHT A1) b HRIET R b
a8 BEO) 14725 #7E®) 1474
5/25 80m K=
-0.9 ﬁ%&?xu—b =y 4 )
ISE RSO 1471B&R &KB6) 14745\ =(6) 15”70[¥E 2 Nz TH(6) 1572[EHO fR1E®) 15”5 2K BEZ(6) 1579 & #E(6) 167030 () 1671
5/25 100m -0.7 -0.7 -0.7 -0.7 -0.7 +0.1 +0.1 +1.7
#RIT AY—F AEH =1y 4 =Ry a7 TA)—h gginu—r =y 4 TRY=b =BEF/N
ZF FALEYQR) 13"6|{E R RETHF(3) 1378| A&} E(2) 1470|%7t F1ZE(2) 14710 #FZEQ) 147328 BEN0) 14"7|HKEHEFI() 1479 B K2(0) 741
5/25 100m +1.3 +1.3 +1.3 +1.3 +2.3 +2.3 -0.6 14”9
BE i X&44 W7 RY—b ERG 3 o i eh i iR +2.3
, tHeh FELR(3) 2'49"3|th# Im#c(3) 25377|f IEEERQ) 2'56"8[FHZE BRAB(1) 2'5770[(null)(1) 3047532 mz=0) 308720 FEIE(D) 31073[&H KB 31275
5/25 800m
§m¢ JE s 4 ch i P 4 ep s 4 ch 4 ch
RiFER 52271
5/25 1500m
FBik B Bk
_[FHLBYE) 4m51 (%5t PF1E(2) Am23[{ER RZETHFQ)  3mI5|EHAMTHEFQ2) Im2[BFE HEQ 3m60[78 AmnE & (3) 3m45|H K BEFI(2) 3m35
5/25 E Mg Bk -0.3 -0.6 +15 +0.9 +0.1 -05 +0.0
JEH S IG5 ERT AY—F o e ki ERTA—F ol

2/2




